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al" is associated with which Sector?
(B) Consumer Complaints
(D) IncomeTax

As seen inrecentnews "E-Daakhil Port
(A) Rightto Education

Life Certificate : .
ggi;ﬁ | lafqrinﬁ 3 aféq "E-Daakhil Portal" 8 2 & arg g e ? Serigy
(A) R R (B) ST R
(C)  Hae T (D)) ST

fraction of Rajya Sabha members retire after every two years?

) IR B) 12

© 13 (D) 1/6 ,

ww%wqﬁmﬁaﬁa&mﬁ%m/w%wméaﬁ%?

(A) 23 (B) 172

(C) 1/3 (D) 1/6

Jallian wala Bagh massacre took place on the festival dgy of-

(A) Deepawali (B) Baisakhi

(C) Lohri (D) Holi

Aot et ST SeTehis fFh Ier @ fa |fed get a1

(A) e (B) Sl

(€) e (D) @il
{

Which movement is known as August Movement/ Kranti? '

(A) NonCooperation Movement  (B) Khilafat Movement j

(C) Swadeshi Movement (D) Quit India Movement |

foRH STIRIAI I ST STIRIT / 3Hifcl o | & ST ST 27 |

(A)  STEEGNT Gk (B) Tairhd SAicler |

(C) sl A (D) ¥R BIS! &I 1

The Non Cooperation Movement was suspended in-

Ay 1922 (B) 1929

(©C) 1921 (D) 1927

STHEIRT Sl i e ay | e & R m & 2

) o) (B) 1929

(C) 1921 (D) 1927

The Pir Panjal range is located in which neighbouring state of Himachal Pradesh?

(A) Haryana (B) Punjab

(Cy Jammu & Kashmir (D) Uttarakhand

R Gl T S fRHre SN & e TSiE oy F e &7

(A) ERErm (B) US

(C) S d HHIT (D) ITES

@) R Y/2022-Series
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2 ' hat is the name of the highest mountain in India?
- (A) Kanchenjunga (B) NandaDevi B

(C) SriKailash (D) Jon Peak :
2 gsong Pea Q
X 1 T Sl e a1 7 a7 B PO
(A) DI (B) erdd
(©) (D) & A
State ani'mal of Hirhachal Pradeshis?
(A) Tiger (B) Lion
150n | now leopar
© B (D} Snow leopard
fewTeret s 1 T U A &7
| (A) | (B) N
g (C) dmEET (D) fem dger
7 } 15.  Whichis the bi ggestnatural lake in Himachal Pradesh?
o (A)y Renukalake (B) Rewalsar Lake
g (C) Khajjiar Lake (D) BrighuLake
3 eIt SRSt bt HE S Tt St i e
i (A) H | (B) RareER #fiw
(C) wER A (D) w3
16. Shimla was declared as summer capital of British India in year?
(A) 1858 (By 1864
(C) 1869 (D) 1871
RHT <Y foifesr STl ot ASHebreiie STl (bt o o e fhar I er?
(A) 1858 (B) 1864
(C) 1869 (D) 1871
17. 30% applesoutof450 are rotten. How many apples are in good condition?
(@AY= 125 (B) 315
(C) 240 (D) 180
450 & § 30% €2 U 21 fra A el R A 87
(A) 125 (B) 315
(C) 240 (D) 180
18. Veena obtained an amount of Rs. 8376 as simple interest on a certain amount at 8% p.a.
after 6 years. What is the amount invested by Veena?
(A)Rs. 16660 (B)Rs. 17180
(C)Rs. 17450 (D)Rs. 18110
Srom we e TIRT 8% a1 & IX T&H &1 Al 37 6 a9 S8 TERET &4 3 8376% foeld £l
o & Rt Uiy a2
(A)Rs. 16660 (B)Rs. 17180 451
(C)Rs. 17450 (D)Rs. 18110 gt
vog '3:.\)_9; L < Px A ")'\; : /J’}é'z
Fax ?g “’w’n it R (5) ok BB/ 2022-Series
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Inarhombus, ifits diagonals are 19 cm and 13 cm, its area wizll be-
(A) '%(19+13)cm’ (B) '2(19x13)cm

(C) %(19-13)cm’ (D) 244.5cm’ ]

e e 8 ST % B 19 cn e 13 om'® A S Bt e 2 geries
(A) %(19+13)cm’ (B) "2(19x13)cm’

(C) '%(19-13)cm’ (D) 244.5cm’

Ifthe area of a circular garden is 15400 m’, then its perimeter is- T, o
(A) 440m (B) 220m Rz A
(€) 110m (D) 550m -
IR T TRAEHIT () S BT S 15400 m’ S Y S8 GRETT RherT 21 o TS
(A) 440m (B) 220m g
(©) 110m (D) 550m ~

A student goes to Scl_lool at the rate of 2% km/hr and reaches 6 min. late. If he travels at the
speed of 3km/hr, he is 10 min. early. What is the distance to School?

(A) 4km (B) 5km
(C) 3.5km (D) 4.5km

e ferEmdt 24, km/hr 1 i & T S @ A A 6 e 1 & g 81 SRR A 3km/hr
| IR Al 2 T a8 10 Brfe STt Uge S 1 Tt 6 54 Rbar 22

(A) 4 . (B) 5 fp. pcme e OF
(©) 3.5 f%A. (D) 4.5 fBA. ke
Find value of x in- A
28.5x 34+2320+8=(36)’ -x R 1
(A) 51 (B) 47 G
©) 45 (D) 37 S i ¥
X %1 Y4 fHehlc- it 3‘/‘;, 1 44

L( e
28.5x 34 +2320+8=(36)" - x e
(A) 5l (B) 47
(C) 43 (D) 37
If HCF (a,b)=15andaxb=1800then LCM (a,b)is
(A) 3600 (B) 900
(C) 90 (D) 120
I (a, b) 1 T STH FITH 15 & @& axb=1800 & T (a, b) Fl T T
I AT LB
(A) 3600 (B) 900 O s
© 90 (D) 120 s
75% of 2 is equal to-
(A) 375 B) 15
@S (D) 0.15

3

6) £ i“ MZOZZ-Series

-

B

Scanned with CamScanner



FCSTRN

231 75% 58 axrey 7
8 oo B
' (D 1 Series
25. Omega-3 fatty acid is not found in-
(A) Fishoil B
g% Flax seeds ED; I\liltumé;s
& 8 & ST -3 9 uftre e ara s 2
(A) B % (B) e
4 (C€) o (D) & o
) 26. ?‘/E;ag(}{ Caél n'ltqst likely be associated with which of the following phenomenon-
' eflection B) Refracti
(C) Dispersion ED% D?ffriiccéﬁ)lll
AT 365 9 e Resiar / we 3 are wwifeg 29
(AY e (B) Iy
(C) oom (D) e
27.  BCG Vaccine is used to prevent-
(A) Measles (By Tuberculosis
(C) Diphtheria (D) Leprosy
BCG & <14l {4 Teht | Tere 82
(A) Hioked (B) T=T
(C) fewdliRan (D) YT /F AT
| 28.  Coloursoflight which deviate the least and most.
1 (A) Redand Violet (B) RedandBlue
(C) _ Violetand Blue (D) GreenandRed
Rl & {1 5§ 9 9 e foafer & 2
(A) T T (B) I g Hen
" (O ST TTTE e (D) T a
29.  Which of'the following is a synthetic drug?
(A) Charas (B) Opium
(C) Heroin . (D) Hashish
ferferitaa & @ | [afes g ?
(A) = (B) o1
(C) == (D) i
30.  Which of the following is not a radioactive element?
(A) Uranium (B) Boron
(C) Radium (D)  Plutonium
ST | I &1 AeareHt o el &7
(A) (B) &=
(©) (D) weitay
@ 18 09/2022-Series
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$38°

oil is used in froth flotation process?

(A) Coconutoil
(C) Pineoil

(A) SRIE ad
(C) < ®H A

(B) Oliveoil
(D) Kerosine

oIt &l UL ST e Hshar & B 82

(B) St o
(D) el & o

Salmonella Typhi bacteria causes life threatening disease of-

(A) Tetanus
(C) Trichinosis

(B) Tuberculosis
(D) Typhoid

TR 2! STaTe] 1 § 51T 9 S & fog e 27

(A) "
(C) FiFfE

TS Tl =TT HT:-
-

(A) u+REms
(C) uR+3te®

1 & & e 951 B G g2

(A) fEm
(C) TeRr

(B) @&
(D) i S

(B) uit+3eeh
(D) UdH+EE

(B) et
(D) =™

"STET T Bl ST Jera / it bl T o7 & 2

(A) S e @ REmEn
(Cy BIe SEH! H1 Aftres e

I A1 B = HL?
(A) IHied
(C) Sl

NERICES
(Ay @8
(C) ®3

AT I |iY-faels &:-
(A) SFHIE
(C) -+

(B) 3T O € 98 R
(D) T & SR

(B) 3chisd
(D) IdhSId

(B) =%

(D) T B &

(B) a+afre
(D) foremEn

®
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39, ‘AT I I &:
. (© SR (B)  Staeisr B
. (D) &g Series
T 9 B T 9 o R
A
¢ ( )' et @)
(@) gsﬂﬁﬁ (D) T | Fis Tt
. 41. i & & i &1 oz R 1 vt w8 22
(A) IUa -
©) e b
~ (D)
4. FrefRed A SR
(A) Hri B) @
(€) el ' ED)) GECRI
43, TN H s U= = ?
(A) 9 (B) IuHN
(©) =™ (D) STy
~ 44. 'TE P TgAS I e
]r (A) @ (B) @& &S
4 @ & (D) S
.45, Foree ST TEd go A 3 I O 9= &
(A) 3T (B) stst
(C) /=T (D) ST
46, EIRE:
(A) STHRT® (B) SIS
(C) STt (D) STHTS
47. Gau R 9= &
(A) e (B) o™
(© FEd (D) TeHrhl
48. T g% HN T Pl IV A S S A Th e 2
(A) STifH (B) i
(C) S HE™ (D) o™
©) I L3/2022-Series
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In each of questions given below, a sentence is given with three words in bold.
Choose the option which gives the correct sequence of those words to make the

sentence grammatically and contextually correct. Serics
49. The H.P. Ordinance not only conflict (A) guaranteed fundamental rights but is also i,
violates (B) with existing (C) personal laws.
(A) ABC (B) CAB
(Cy BAC (D) ACB

50. The Supreme Court has been asking states to reservation (A) quantifiable data to justify
(B) their level of produce (C).
(A) CAB (B) ACB
(C) BCA (DY CBA

Choose the correctly spelt word.

51. (A) Harasment (B) Harrasmant
(Cy Harassment (D) Harresment
52. (A) Consensus (B Concensus
(Cy Consencus (D) Consansus

Select the option which best expresses the sentence in Active/Passive voice.

53. Somebody told me that there had been an explosion in the Mall.
(A) Iwastold by somebody about the explosion in the Mall.
(B) Iwastoldaboutthe explosion in the Mall.
(C) Iwasinformed thatthere was an explosion in the Mall.
(D) Iwastold by somebody that there had been an explosion in the Mall.

Choose the correct option for sentence improvement if any.

54. He has fallen out with the girl he wanted to marry .
(A) fallenoff (B) falleninlove
(Cy fallen for (D) noimprovement.

55. Itisthetime the three years old is learning how to read and write .
(A) waslearning (By haslearning
(Cy mustlearn (D) noimprovement.

Choose the option having similar meaning to Capital word.

+56. PIOUS _
(A) Religious (B) Sympathetic
(C) Afraid (D) Faithful

Y
LA RO
s ) ,‘N"/E, 5 N <l pQ
e e mp()ﬂ*’“ e
: Y \ o A~
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REPLENISH

(A) Restore (B) Rechar,
(C) Accelerate (D) Exhaust(tge

' Series
oose the option correct for the sentence.
Ahater qf knowledge and learning
(A) Bl!ahophi.le (B) Philologist
(C) Misogynist (D) Misologist
Choose the correct option for filling up the blanks.
goRetIn. . to‘picking up milk from the grocery store we also need to get some bread
because my cousin ate all of it in past week.
(A) further (By addition
& (C) aftermath (D) besides

Select the most appropriate option to change the sentence from Direct Speech to

Reported Speech and vice versa.

60. "Iam goingouttonight" Luxmi said
(A) Luxmisaid thatshe was going out tonight.
(BY Luxmisaid thatshe was going out that night.
(C) Luxmisaid shewas going out that night.
(D) Luxmisaid that she will be going out that night.

61. TheKing ordered that they should celebrate their victory.
(A) TheKingsaid, "One should celebrate their victory".
(B) TheKing said, "I order everyone to celebrate".
(C) TheKing said, "We should celebrate our victory".

(D) TheKing said, "We may celebrate".

The given phrase in bold

may or may not contain an error. The options following can replace

the incorrect phrase. The correct phrase thatis to be replaced will be your answer.

62. Everythingis

funny as long asit"IS HAPPENING TOO" somebody else.

(A) hasbeen happening for (B) couldhave happened to

(C) washappeningto (DY ishappening to

Choose the correct meaning of the idiom as underlined.

63. Everyone likes her since she always remains in high spirits.
(A) talkative (By cheerful
(C) welldressed (D) courteous

@
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64.

65.

66.

67.

68.

69.

.

He was a King who ruled his subjects with a high hand .

(Ay oppressively (B) kindly

(C) conveniently (D) sympathetically. Seri:
Which one of the following is different from the rest?

(A) Barley (By Groundnut

(C) Mustard (D) Peas

Frrfeiia & & &1 o | =T 87

A) St (B) el

(C) wwH (D) AW

Inacode "TOGETHER!' is denoted by 'RQEGRICT' then'FRIEND' willbe denoted by?
(A) DSHGFL (B) FLGGTD

(C) GGLFDT (DY DTGGLF

% HIE # 'TOGETHER' 3 'RQEGRICT' ¥ &ty ofrel 8, df 'FRIEND' ®I 31 #1$ 7 fed
7T STET?

(A) DSHGFL (B) FLGGTD
(C) GGLFDT (D) DTGGLF

Ram's position is thirteenth from upwards in a class of 53 students. What will be his position
from downwards?

(A) 42 (B) 43
(C) 41 (D) 40
53 BT 3 T FAl § TH Bl T S H 138t &1 S8H1 T e | I 6 B
(A) 42d (B) 43a
(C) 4la (D) 40dt
February 1, 2009 was Sunday. What day of the week was on March 1st, 20117
(A) Wednesday (B) Tuesday
(C) Friday (D) Sunday
HEd 1,2009 & e on A 1, 2011 & F<TE H i & A e
(A) FHAX (B) WER
(C) AR - (D) WER
If Everest is to Himalayas, then Mount Abu is to-
(A) Nilgiri (B) Aravali
(C) Vindhyas (D) None ofthese
I QR 1 T4 feuerd | B, S 7S g 1 wvay fpad 2rm?
(A) ;i.lﬁiilfl (B) Sl
(€) faem (D) T & P &
/ Y\ NS QT,\-
RN L5 A
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75.

76.

~ whois shorter than Shyam. Who is the shortest?

Ram is taller than Shyam but not as much as Rajan. Arjun s taller than Sohan

(A) Rajan (B) Ram s
(C) Arjun (D)  Sohan
m,m@rs"ﬁ%mwmﬂﬁnaﬁﬂ,@ﬁéw%a‘rmﬁ%@a%laa%
BIT DI &7

(A) oI (B) ™

(C) oA (D) @

Shyam Lal goes 8 Kms in the west from a certain point. Then he moves to his right

and goes 8 Kms. In the end he goes 25 Kms. in south east direction. How far is he

from his starting point?

(A) 10Kms (B) 20Kms

(C©) 15Kms (D) Noneofthese

fhell iR g | s o aivem & 8 6.1, =am f6Y arlt ik geae 8 1. el o1 a2
MRUT-9d f&em & 25 6.7, = a8 oTa S g & febae gx &2

€ries

(A) 10 %A (B) 20 .4

(C) 15 & (D) T q FiS T

If 'a'means'+', 'b'means'-', 'c'means '+ 'and 'd' means 'x' then 16a4b3c4d2=2

(A) 10 @) 19

(@) 485 (D) 2172

Qﬁ'a'ﬂq?ﬁﬁ'-f-', 'b' B AASS -, 'c' B AW '+ TAT 'd' FT HAAT X' ar 16a4b3c4d2=?
(A) 10 B) 17

(@) 185 (D) E21172:

Fill in the blanks with Correct option.

ik

78.

200,193,179, 158, ,95

(e B)i 133

(@) 43> D) 130

Hel ey & R & 3y 93

200,193,179, 158, ,95

(A) 135 B

© 132 ED% Sg

51,49.44,42,37,

e 5

g Y Y R)s 42

51,49,44,42,37,

A) 35 (B) 34

© 33 (D) 32
WL Y/2022-Series
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